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REEB 2FA98H | 2H9H | 2H98 | 2A98 | 2A98 | 2A168B | 2A168B | 2A168B | 2H168B | 2HB168H | 2A16H
i@ °C 6.0 6.0 8.0 11.0 6.0 6.0 6.0 5.0 6.0 35 35
KR °C 75 8.0 9.0 9.5 7.0 14.0 10.0 8.0 15 5.0 6.5
—EHE 10048/ mIL T 0 0 0 0 0 0 0 1 0 1 0
KBE mtshmnce|  TARH T N Tas] N Tas] TR =4 e (=4 e (=4 [£§d
EiemAA> 200mg/LEA T 2.6 13 55 4.0 3.0 5.4 5.0 2.3 2.6 2.9 33
AH#H(TOC) 3mg/LLLT 03 03k | 03k 03 0.3k % 0.2 03 05 08 03 0.2
pHIE 5851 E86LLT 7.2 7.0 6.9 7.0 7.1 6.86 6.80 7.16 7.09 7.24 6.88
S 2xoavoe BELGL | BEAGL | EEALGL | EEBLGL | EBGL | BELGL EELGL BEEGL BEELGL EEIGL BEEiLL
ER 2xoavoe BELGL | BEAGL | EEAGL | BEEBLGL | EBGL | BELGL EELGL BEEGL BEELGL EEGL BEEEL
B E SELLT 05Ki# | 05K | 05Kim | 05XKE | 05K 1R 1R 1R 1 1R 3
BE 2ELLT 01K | O1KH | 01KiEm | 01K | 01K 0.15K & 0.1 il 0.15K & 0.1K% 0.15K & 0.2
WEk R B mg/L 0.4 0.3 0.5 0.4 0.4 0.3 0.3 0.3 0.4 0.4 0.3
W REEESR 0.04LLF 0.0043Ki#% | 0.004K%E | 0.004KE | 0004k | 0.004kKH | 0004k
TN EMBR VIS 7Y 001kE 0.0013Ri#% | 0.0013K{%E | 0.001K{®E | 0.001kjE | 0.001KjE | 0001k
e R 06U 0.06K i 0.06K ;% 0.06K jif 0.06kK 5% 0.06K jif 0.07
HOOEES 0.02LLTF 0.002Kj#H | 0.002FKj#H | 0.002FKiH | 0.002FKE | 0.002FKE | 0.0025KHE
vi=Inl, JIWN 0.06LL T 0.001K#% | 0.001kK& 0.004 0.009 0.005 0.0015k %
sl 0.03LLTF 0.003K# | 0.003K;iH 0.004 0.008 0.003 0.0035k i
oJO0F/O0A% 0.1LLTF 0.0013Ri#% | 0.001K{% | 0.001KjiE | 0.001FKH 0.001 0.001k i
B 001 LT 0.0013Ki# | 0.001Ki# | 0.001FKi# | 0.001FK# | 0.001FK# | 0.001FKH
BRy\OARY 01T 0.001KR# | 0.001K;iH 0.005 0.012 0.009 0.001k &
) OOFEES 003U T 0.003Ki# | 0.003F i 0.003 0.008 0.003FKi# | 0.003%F
JOEosOair%y 0.03LLTF 0.001Kj# | 0.001KiH 0.001 0.003 0.003 0.001k i
JAERILL 0.09LLF 0.0013Ki#% | 0.001K{® | 0.001K{®E | 0.001kjE | 0.001KjE | 0001k
HRILLTFILTER 0.08LLF 0.0085Ki#% | 0.008%ki% | 0.008>k% | 0.008kj& | 0.008kKi% | 0008k
HBRUVZDIEEY 0.3mg/LUF HBEHE HRg A HBEHE HREE] HEETE 0.08




